Efficiency vs Dxy(PV)

Ratio
-
N
T

1®- ; h - i h v 3
-25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TTbase

—e— DQM_mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4

—— DQM_mkFit_TT_baseline_6iter

I Efficienc] —— DQM_mkFit6_TT retrainOldFiles125_v2_prelimWP_epoch2 wSQCD

< 0.1

>

oef--i-H-r-H
-1-0.8-0.6-

Efficiency vs Dz(PV)
S 0

o

o

=
TrTT
% — .
F——

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

;0.

o
%0.09)
o

20.08
3,

20.07
@

£20.06|
©

0.05
oosfr bkt L1 F i -+
0.038{-H-+H- AL Ik 44 e :
ooz i % -4
oot (PP S

Il

Ratio

0.9
0.8
0.7




	Contents
	Page 1


